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_ i _
SAEMUE7H o= At SH(ELE 7L

AFF |2 [HE% [-HHBM% AFF (W2 [HE% [-EHB%
155 90 92 1545 1545 155 40 82 36.65 36.65
258 80 76 17.75 332 268 35 58 10.1 46.75
38 70 55 23.8 57 38 30 48 10.2 56.95
45 60 39 8.15 65.15 45 25 38 10.5 67.45
S5 50 31 8.1 73.25 S5 20 28 9.55 77
6o 40 22 89 82.15 6= 15 17 11.55 88.55
7s5 30 13 9.05 91.2 75 10 9 55 94.05
8s= 20 5 7.1 98.3 8sw 5 4 3.8 97.85
9= 0 1 1.7 100 9= 0 1 2.15 100




YR ([BEETS |MER  |HIE®%) YR ([BEETS |MEQ  |HIE%)

ks 50 63 9% 8.3 ks 50 63 95 9.6
152 50 63 9% 8.3 152 50 63 95 9.6
252 47 61 88 8.05 252 48 62 86 9.35
352 45 59 78 7.9 352 46 60 77 5.05
452 40 55 60 17.6 452 38 54 61 17.95
552 31 48 40 19.6 552 30 47 40 19.55
652 24 43 24 15.95 652 24 43 25 16
V=a=1 15 36 11 12 VA=a=1 18 38 11 12
8s2 29 4 6.95 8s2 7 29 4 7.1
952 0 24 0 3.65 952 0 23 0 34
Z|5H 0 24 0 0.65 %5t 0 23 0 0.65
St 36 52 51 1.85 Stk 34 50 48 5
i 33.309 50 44 2.25 H 33.403 50 48 5
HEEZ=HEXE | 12.99296 HEZ=HEAE | 12.55513

MIA X2

m‘|> r_?_l'
5
Ral
i

X B |2 |HIE%) YR ([BEETES (HMER  |HIE(%)
Z0H 0 64 98 3.95 kS| 50 60 91 18.95
152 47 62 92 11.95 152 50 60 91 18.95
258 47 62 92 0 258 50 60 91 0
358 43 59 76 16.2 358 47 58 75 8.6
455 39 56 61 14.1 455 43 55 59 15.9
565 29 48 41 17.85 558 37 51 40 17.15
= 19 41 23 18.75 652 25 42 23 17.35
752 14 37 11 11.8 VA=a=1 15 35 12 11.2
82 6 31 4 5.45 8s2 28 4 7.2
952 0 26 0 3.9 952 0 24 0 3.65
Z|5H 0 26 0 0.8 |5t 0 24 0 0.6
Stk 34 52 51 2.05 Stk 41 54 52 8.15
i 31.5495 50 45 455 H 35.9255 50 39 14
HEZHEAL | 13.36521 HEZ=HEAE | 13.69499
S OFA|OFA} M| A A
YR ([BEETS (HMER  |HIE%) YR ([BEETS (HMER  |HIE%)

ks 50 64 95 10.15 ks 50 64 97 5.15
152 50 64 95 10.15 152 50 64 97 5.15
258 47 62 87 5.75 258 47 62 88 8.55
352 44 59 78 7.85 352 43 59 76 11.95
455 37 54 62 16.65 455 38 55 61 147
565 30 48 40 20.65 552 29 48 41 20.05
=1 24 43 24 16.4 652 20 41 23 17.35
755 16 37 11 11.8 755 13 36 10 14.7
8s2 6 29 4 7.55 8s2 7 31 4 3.9
952 0 24 0 3.2 952 0 26 0 3.65
Z|5HH 0 24 0 0.75 |5t 0 26 0 0.65
S2tak 33 50 48 6.1 S2tak 34 52 51 2
g 32.47 50 48 6.1 g 31.5625 50 46 44
HEZHAL | 12.47862 HEFZHAL | 12.98312




= gESPN S|
YR ([BEETS |MER  |HIE®%) YR ([BEETS |MEQ  |HIE%)
ks 50 66 98 3.9 ks 50 65 98 45
152 48 64 94 7.7 152 50 65 98 45
252 46 63 89 5.75 252 47 63 89 7.75
352 41 59 76 12.85 352 42 59 76 13.1
452 35 54 61 14.15 452 35 54 61 15.85
552 27 48 42 19.55 552 26 47 40 20.3
652 18 41 23 19.5 652 18 41 23 18.15
V=a=1 13 37 10 12.25 VA=a=1 13 37 10 12.35
8s2 7 32 4 455 8s2 7 32 4 4
952 0 26 0 3.7 952 0 27 0 4
Z[ 5t 0 26 0 0.65 %|5HH 0 27 0 0.65
Stk 31 51 51 2.25 Stk 31 51 51 5.1
i 29.954 50 49 2.4 H 30.1935 50 47 2.55
HEEHEAL | 12.71341 HEZ=HEAE | 12.92182
- . e - . —
A2 23} ol AHMCHE7h
YR ([BEETS (HMER  |HIE(%) YR ([BEETS (HMER  |HIE(%)

ks 50 64 98 3.75 ks 50 64 97 5.35
152 48 63 95 7.2 152 50 64 97 5.35
258 46 62 88 9.65 258 47 62 88 8
352 44 60 77 8.75 352 43 59 76 12.75
455 36 55 60 15.95 455 38 55 61 14.25
565 25 47 41 18.75 552 27 47 39 23.05
= 15 40 23 17.3 652 19 41 23 16.1
752 10 37 12 12.5 VA=a=1 14 37 11 12.35
82 6 34 4 6.6 8s2 8 32 4 435
952 0 30 0 33 952 0 26 0 3.8
%5 0 30 0 07 %5t 0 26 0 0.55
Stk 31 51 51 1.75 Stk 33 51 50 2.05
i 29.437 50 48 3.2 H 31.376 50 47 43
HEEZ=HEAE | 14.39797 HEFZ=HEAE | 13.03609




L}

==l
YR ([BEETS |MER  |HIE®%)
ZnH 50 68 99 1.5
152 47 66 9% 5.35
252 44 64 90 6.6
352 38 59 76 13.4
452 31 53 60 15.45
552 23 47 41 19.65
652 15 41 22 20.1
V=a=1 10 37 11 10.55
8s2 5 33 3 6.15
952 0 29 0 2.75
Z|5HH 0 29 0 0.95
Stk 27 50 50 2.55
Ha 26.8625 50 50 2.55
HZHEAL | 12.62051
2tst |
YR ([BEETES (HMER  |HIE%)
ESnks] 50 66 97 5.55
152 50 66 97 5.55
258 47 64 91 6.3
352 41 59 77 12.55
455 33 53 60 18.6
568 26 47 40 17.9
=1 19 42 24 17
752 14 38 12 11.9
82 6 32 4 7
952 0 27 0 3.2
Z[5HH 0 27 0 0.75
Stk 30 50 49 5.5
Ha 29.5225 50 49 5.5
HEF=HEAL [ 12.85851
- .
AHAS |
YR ([BEETES (HMER  |HIE(%)
ESnks] 50 67 99 1.95
152 47 65 95 6.15
258 44 63 88 9.35
3= 40 60 78 8.5
455 32 54 61 17.35
565 22 46 39 21.1
= 15 41 23 15.95
755 10 37 12 11.3
82 6 34 4 6.8
952 0 30 0 35
Z|5HH 0 30 0 0.6
S2tak 27 50 50 2.05
g 27.215 50 50 2.05
HEZFZHAL | 13.30084

YR ([BEETS |MEQ  |HIE%)
ZnH 50 65 98 47
152 50 65 98 47
252 47 63 89 7.45
352 43 60 78 11.3
452 35 54 60 18.85
552 26 47 41 19
652 19 41 22 17.8
VA=a=1 13 37 10 12.45
8s2 7 32 4 5
952 0 26 0 3.45
Z|5H 0 26 0 0.7
Stk 31 50 49 3.85
e s 30.3645 50 49 3.85
HEFHEAL [ 12.88455

2SI

HEx  |BEEs (M2 [HE®%)
ESnks] 50 67 98 3.25
152 48 66 96 475
258 45 64 91 6.95
352 40 60 78 11.55
455 31 53 59 18.2
565 22 46 40 19.5
= 15 41 24 16.4
VA=a=1 10 37 11 13.2
8s2 8 36 7 5.45
952 0 30 0 4
%[5t 0 30 0 0.6
Stk 27 50 51 2.4
s 26.9955 50 51 2.4
HZ=HAE | 13.18683

- .
A Hapst ||

YR ([BEETES (HMER  |HIE(%)
A1 50 63 93| 1365
152 50 63 93 13.65
258 50 63 93 0
365 45 59 78 10.15
45= 39 54 61 16.95
565 31 48 40 20.55
652 25 43 24 16.15
VA=a=1 17 37 11 11.95
8s2 7 29 4 7.05
952 0 23 0 3.55
Z|5HH 0 23 0 0.6
Stk 35 51 50 2.65
o 33.6445 50 48 1.65
HEFHEA [ 12.58158




YR ([BEETS |MER  |HIE®%) YR ([BEETS |MEQ  |HIE%)

ks 50 66 98 3.25 ks 50 68 99 2.1
152 48 64 95 7.35 152 47 66 9 6.55
252 46 63 90 5.7 252 43 63 87 7.65
352 41 59 75 14.7 352 38 59 76 10.65
452 35 54 59 14 452 31 54 62 15.95
552 25 46 38 22.65 552 22 47 42 19.95
652 19 41 23 13.5 652 14 41 24 16.95
V=a=1 15 38 14 11.9 VA=a=1 10 38 14 11.4
8s2 9 33 4 6.85 8s2 5 34 4 7.2
952 0 25 0 3.35 952 30 0 3.7
Z|5H 0 25 0 0.55 %5t 0 30 0 0.75
Stk 31 50 49 435 Stk 26 50 50 445
s 30.425 50 49 435 H 26.345 50 50 4.45
HEZ=HEAL | 12.36284 HEZ=HEAE | 13.21553




= O] O.I |
- =
YR ([BEETS |MER  |HIE®%)
ZnH 50 64 98 42
152 50 64 98 42
252 47 62 89 8.05
352 44 60 78 11.1
452 36 54 58 20.65
552 27 47 39 18.75
652 19 41 22 16.65
V=a=1 14 37 11 11.9
8s2 6 31 4 5.45
952 0 26 0 3.25
%5 0 26 0 0.6
Stk 32 51 50 3.75
Ha 31.2675 50 47 2.05
HEFHEAL [ 12.98758
A 2107 |
YR ([BEETS (HMER  |HIE®%)
ESnks] 50 63 9 7.15
152 50 63 9 7.15
258 47 61 88 6.95
352 44 59 78 12.1
455 40 55 61 14.1
568 31 48 39 21.55
=1 23 42 21 19.55
752 17 37 11 8.2
82 7 29 4 6.6
952 0 23 0 3.8
%5 0 23 0 0.9
Stk 35 51 49 2.3
da 33.4655 50 45 5.1
HEFZ=HEAE | 12.35019
2201 |
YR ([BEETES (HMER  |HIE®%)
ESnks] 50 70 100 0.55
152 46 67 97 42
258 40 62 86 126
352 37 59 77 7.2
455 30 53 59 18.5
565 23 47 41 17.95
=1 16 41 22 18.65
VA=a=1 11 37 10 11.3
8s2 7 33 4 6.35
952 0 27 0 3.25
Z|5HH 0 27 0 0.4
S2tak 27 50 49 4.95
g 26.5105 50 49 4.95
HFZHAL | 11.66919

it EI—AO-' |
— o —
YR ([BEETS |MEQ  |HIE%)
ZnH 50 68 99 2.7
152 48 66 9 465
252 45 64 90 6.55
352 38 59 77 14.25
452 31 53 60 15.15
552 23 47 41 19.4
652 15 41 24 17.2
VA=a=1 10 37 11 12.65
8s2 6 34 4 6.4
952 0 30 0 3.75
%5 0 30 0 0.7
Stk 27 50 50 2.3
Ha 26.7485 50 50 23
HZHAL | 13.08242
=
S=0] |
AP |BEEs (M2 [HE%)
ESnks] 50 70 100 0.6
152 45 66 9% 5
258 40 62 87 114
352 37 59 76 8.95
455 31 54 61 14.75
565 23 47 39 21.95
= 17 41 23 16.15
VA=a=1 12 37 11 11.7
8s2 7 33 4 7.25
952 0 26 0 2.85
Z|5H 0 26 0 0.2
Stk 27 50 50 2.8
Ha 26.824 50 50 2.8
EFEA [ 11.3743
2| A[OFO] |
YR ([BEETES (HMER  |HIE®%)
A 50 69 98 44
152 50 69 98 44
258 47 66 90 7.2
3= 37 59 79 11.7
455 28 52 58 20.55
565 20 46 39 19.7
652 14 41 23 15
752 10 38 12 10.75
8s2 6 35 4 7.2
952 0 30 0 35
Z|5HH 0 30 0 0.95
S2tak 25 49 49 47
g 25.7985 50 53 2.6
EFHEA [ 13.05719




OFEf o] | HEZ0 |
YR ([BEETS |MER  |HIE®%) YR ([BEETS |MEQ  |HIE%)

ks 50 89 100 0.6 ks 50 78 99 1.7
152 40 77 9% 4.25 152 47 75 9% 5.55
252 22 57 88 10.1 252 34 64 89 5.45
352 20 55 78 9.3 352 24 56 79 12.9
452 16 50 62 17.25 452 17 50 62 17.2
552 11 45 37 26.1 552 12 45 42 20.1
652 9 43 20 18 652 9 43 25 16.8
V=a=1 8 41 10 10.55 VA=a=1 7 41 14 11.35
8s2 7 40 4 0.6 8s2 4 39 4 7.85
952 0 32 0 3.85 952 0 35 0 2.8
Z|5H 0 32 0 0.65 %5t 0 35 0 0.85
Stk 14 48 52 5.1 Stk 13 46 48 5.9
s 15.6335 50 61 48 H 17.469 50 62 5.45
EFHEA [ 8914983 EFHEAL [ 11.73443

- .

ol= |

YR ([BEETS (HMER  |HIE®%)

ESnks] 50 64 98 48
152 50 64 98 48
258 47 62 89 74
BSiE] 43 59 76 13.55
452 38 55 60 15.55
565 27 47 39 21.5
= 19 41 22 16.95
752 14 37 10 115
= 6 31 4 5.3
952 0 26 0 3.45
Z[SHH 0 26 0 0.45
Stk 33 51 49 2.1
e 31.3605 50 46 3.9
HEZ=HEXE | 13.08909
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